
 
     Math 3    Homework 6

 
Interior and Exterior of an Angle.  

Does point P belong to an ∠ 𝐴𝐶𝐵? _____        Does a segment 𝐴𝐵̅̅ ̅̅  belong to an ∠ 𝐴𝐶𝐵? _______ 

 

 

 

 

 
 

 

 

 

 

 

 

Do all points of a ray 𝐵𝐴⃗⃗⃗⃗  ⃗ belong to the ∠ 𝐴𝐶𝐵? _____ 

a) Take a blue pencil and follow the part of the ray 𝐵𝐴⃗⃗⃗⃗  ⃗ which is inside the angle ∠ 𝐴𝐶𝐵  

b)Take a green pencil and follow the part of the ray 𝐵𝐴⃗⃗⃗⃗  ⃗ which is outside the angle ∠ 𝐴𝐶𝐵  

 

 

 

 

 

 

 

 

Compare the rays 𝐴𝐵⃗⃗⃗⃗  ⃗ and 𝐵𝐴⃗⃗⃗⃗  ⃗:   

Does ray  𝐴𝐵⃗⃗⃗⃗  ⃗ pierce cloud R? _____  

Does ray  𝐴𝐵⃗⃗⃗⃗  ⃗ pierce cloud Q? _____  

Does ray 𝐵𝐴⃗⃗⃗⃗  ⃗ pierce cloud R? _____ 

Does ray 𝐵𝐴 ⃗⃗ ⃗⃗ ⃗⃗  pierce cloud Q? _____ 
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Using a ruler, draw angles ∠ 𝐴𝐵𝐶 𝑎𝑛𝑑 ∠ 𝐹𝐷𝐸   

Find the area which belong to both angles and shade it with a pencil. 

 

 

 

 

 

  

 

 

 

 

Express in meters, decimeters, and centimeters, using an example below. 
 

 485 cm = 4m + 8dm + 5cm   56 dm = _________________ 

 807 cm = ______________   350 cm =____________________ 

 

Evaluate an expression (11 + 𝑥): 

   If 𝑥 = 11: _______________________ 

             If 𝑥 = 20: ______________________ 

              If 𝑥 = 550: _____________________ 
 

Evaluate the expressions below for x = a, and y = 6. 

x + y =  _____________________________                                                               

6 – y =______________________________ 

y – x =  _____________________________                                                             

One penny out of three is fake.  It is lighter than the others. How can you find the fake coin by using a 

balance scale like the one shown in the picture?  You can only weigh once!   
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Travelling distances. 

 

 
 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
a) What is the distance from the point D to the point E?  ____________________________ 
 
b) If Eeyore goes to Pooh’s house through the forest, what is the total distance he travels? 
___________________________________________________________ 
 
c) What is the distance from the point B to the point E? _____________________________ 
 
d) What is the total distance from point A to the point E via B? _______________________ 
 
e) What is the total distance from the point A to the point C via B? ____________________ 
 
f) If Pooh goes to Eeyore’s house, which is the shortest route?________________________ 
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Calculate writing each problem in the columns (Don’t forget to write ones under ones, etc.) 

a) 324 + 801 + 70 =   b) 482 + 199 + 39 =    c) 791 + 191 + 555 =  
 

                                 

                                 

                                 

                                 

                                 

                                 

 

In the mazes below, begin at the shaded number. Find the skip counting pattern to escape. You can 

only move up, down, left or right to the next number. Use any color pencil to show your route 

(practice with a regular graphite pencil with an eraser first). 

 

 

 

 
 
 
 
 
 
 
 
 

 
a) Alexia begins at 10 and skip counts by 10. Leron begins at 6 and skip counts by 6.  What is the 

smallest number Alexia and Leron will both say? 

10, ____, ____, ____,_____,_____,_____,_____,_____,_____,_____,_____, 

6, ____, ____, ____,_____,_____,_____,_____,_____,_____,_____,_____, 

 

b) Lena begins at 4 and skip counts by 7. David begins at 4 and skip counts by 6. What is the smallest 

number after 4 they will both say? 

4, ____, ____, ____,____, _____, ____, _____, 

4, ____, ____, ____, ____,_____, ____, _____, 

 

a) Ved wrote that 9 + 9 = 18. Then he wrote that 9 + 9 + n = 18 − n. Are both of his equations 

balanced? If not, write down balanced equations.  __________________________ 

__________________________ 
 

b) Simon wrote that a + a = 2a. Then he wrote a + a + b = a + a – b. Are both of his equations 

balanced? If not, write down balanced equations.  __________________________ 

__________________________ 
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